Manuals+ — User Manuals Simplified.

RYOBI R163 Fixed Base Router Instruction Manual

Home » RYOBI » RYOBI R163 Fixed Base Router Instruction Manual ™

Contents

1 RYOBI R163 Fixed Base

Router

2 PARTS LIST

3 WIRING DIAGRAM

4 Documents / Resources
4.1 References

5 Related Posts

RYOBI R163 Fixed Base Router


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/ryobi
https://manuals.plus/ryobi/r163-fixed-base-router-manual.pdf

PARTS LIST



———————————




KEY NO. PART NO. DESCRIPTION QTy.
1 660136001 Screw (10-32 x 1/4in.) 4
2 200234020 Subbase Assembly 1
3 514415002 Chip Shield 1
4 660161001 Screw (#8-10 x 5/8 in., Philips Pan Hd.) 4
5 200244001 Right Handle Assembly 1
6 660062005 Screw (#10-24 x 9/16 in., T orx Recess Pan Hd.) 2
7 200235001 Left Handle Assembly 1
8 671243001 Hex Lock Nut (1/4-20 ) 1
9 671260001 Lever Pin 1
10 631421001 Wear Plate 1
11 641125002 Lock Lever 1
12 671247001 Roll Pin 1
13 200557002 Router Base/Spindle Lock Actuator Kit (Inc. Key 3 on p. 4-5) 1
14 671797001 E-Ring 1
15 671759001 Torsion Spring 1
16 641123002 Height Adjustment Bar 1
17 641124001 Height Adjust Screw 1
18 302148001 Depth Adjust/Zero Reset Ring Assembly 1
19 660440001 Screw (M3.5 x 12 mm, Flat Hd.) 1

20 514418002 Quick Release Button 1
21 671758001 Compression Spring 1
Not Shown:
903209070 Tool Bag
983000958 Operator’'s Manual (CN —961153313)

(VN -961153313)







KEY NO. PART NO. DESCRIPTION QTy.
1 660133010 Screw (8-18 x 24 mm, Pan Hd.) 4
2 660929001 Screw (M3.5 x 14.5 mm, Pan Hd.) 1
3 200557001 Router Base/Spindle Lock Ac;l_J;)tor Kit (Inc. With Key 13 on p ]
4 672090001 Torsion Spring 1
5 514543001 Bearing Frame 1
6 680769003 Ball Bearing (6003) 1
7 660299021 Screw (M5 x 13 mm, Wafer Hd.) 2
8 290138021 LED Work Light Assembly 1
9 514412001 Motor Housing 1
10 760676001 On/Off Switch 1
11 290086037 Power Cord Assembly 1
12 5950101 Cord Clamp 1
13 660208052 Screw (M4 x 16 mm, Pan Hd.) 6
14 514413001 Top Bearing Bracket 1
15 660103001 Screw (M0.17 x 3/4 in., Pan Hd.) 4
16 280013103 Circuit Board Assembly 1
17 660182003 Screw (6-19 x 5/16 in., Pan Hd.) 1




18 200452001 Upper Cap Assembly (Inc. Key Nos. 29-30)
19 290286001 LED Work Light and Frame (Inc. Key Nos. 5 & 8)
20 690190002 Collet Nut
21 671399001 Retaining Ring
22 290147100 Motor Assembly
23 290069107 Brush Assembly
24 630801001 Brush Tube Clamp
25 660371002 Screw (8-16 x 1/2 in., Pan Hd.)
26 680966001 Ball Bearing (CW 608RS)
27 660928001 Screw (M4.3 x 56 mm)
28 514266001 Chip
29 940054128 Logo Label
30-CN 941121220 Data Label
30-VN 941122849 Data Label
31 940999110 Cord Label
32 671250001 Wrench

If a key number has multiple part numbers, please order the part that corresponds with the country of origin
shown on the product’s data label.

CN = China

VN = Vietnam

WARNING: The assembly shown represents an important part of the Double Insulated System. To avoid the
possibility of alteration or damage to the System, service should be performed by your nearest authorized service
center.

WIRING DIAGRAM



POWER CORD

WHITE LEAD

PCB ASSEMBLY

SWITCH

BROWN LEAD
RED LEAD

WHITE LEAD

BLACK LEAD

BRUSH ASSEMBLY

WIRING DIAGRAM

Documents / Resources

RYOBI R163 Fixed Base Router [pdf] Instruction Manual
R163 Fixed Base Router, R163, Fixed Base Router, Base Router

References

« K Reimagine With RYOBI - RYOBI Tools

Manuals+,


https://manuals.plus/m/b25126e9535663c3962099d20936a6fa442cd04585e52314949d3db2c592a282
https://manuals.plus/m/b25126e9535663c3962099d20936a6fa442cd04585e52314949d3db2c592a282_optim.pdf
http://www.ryobitools.com
https://manuals.plus/

	RYOBI R163 Fixed Base Router Instruction Manual
	RYOBI R163 Fixed Base Router
	PARTS LIST
	WIRING DIAGRAM
	Documents / Resources
	References



